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Worked Examples

1. Find the area of a parallelogram whose base

is 8.5 cm and height 4 cm..

[ o View Text Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hDGESB2IXQPh

2.Find the base of a parallelogram whose area

is 85¢m? and altitude is 17 cm .

o View Text Solution

3.Pis a point on the side AB of AABC', such

that 5AP =2AB.

o View Text Solution



https://dl.doubtnut.com/l/_hDGESB2IXQPh
https://dl.doubtnut.com/l/_XGYSFwkXyvJL
https://dl.doubtnut.com/l/_sA9byVpI7vTi

4. ABC is a triangle ,and XY is drawn parallel to
BC cutting AB at Xand ACat Y.
If AB=7.2cm, AC =4.8cm , and AX = 4.2 cm

find AY.

o View Text Solution

5. ABC is a triangle ,and XY is drawn parallel to
BC cutting AB at Xand ACatY.
If AB=12cm,AC=9cm, and AY =5.4 cm , find

BX.

| & I


https://dl.doubtnut.com/l/_bzrWGgtSsp1C
https://dl.doubtnut.com/l/_Fi5g8tChfWj4

| ¥ View Text Solution |

6. ABC is a triangle ,and XY is drawn parallel to
BC cutting AB at Xand ACat Y.
If AX=56cm,XB =16 cm,and AY =84 cm ,

find AC.

o View Text Solution

7.1f AX =10.8 cm ,AB =12 cm and YC =3 cm,

find AC.

o View Text Solution



https://dl.doubtnut.com/l/_Fi5g8tChfWj4
https://dl.doubtnut.com/l/_IZPPbe19OzNM
https://dl.doubtnut.com/l/_ezqFKXxaccBx

8. The bases of an isosceles trapezium are 8
and 4 , and each of the non - parallel sides be

produced to form a triangle ?

o View Text Solution

9.In the figure , AD is bisector of A . IfBC=10

cm,BD =6 cm,and AC =6 cm, find AB.

° View Text Solution



https://dl.doubtnut.com/l/_ezqFKXxaccBx
https://dl.doubtnut.com/l/_2rhtuRsYokRM
https://dl.doubtnut.com/l/_aGc8Z1FZZEDT
https://dl.doubtnut.com/l/_JyyMUNUqpBHZ

10. In the figure , find x of DE||BC . All

measurements are in cm .

o View Text Solution



https://dl.doubtnut.com/l/_JyyMUNUqpBHZ

